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.Part A (Short Answer Questlons)

Answer all questwns brwﬂy
Each questwn carries 1 mark:

1." In OSI network archltecture frammg is done by
' Deﬁne sxmplex mode of transmlssmn '
What 1s attenuation ?-

Mentlon the different topologies:

;

e e

Whlch sublayer of the: data link layer performs data link functlons that depend upon the type of '

*medmm ?

. What is IP (Internet protqcol) ? -

®

7. What is the main function of IGMP ?

8. Mentlon any three apphcatlon layer probocols

9, 'Whlch mlﬂtlplexmg technique trarismits dlgltal SIgnals ? e

. ‘ 10. +*Name the-transport layer protocols used in networku';g. .
' (10x1=10)
Part B

Answer any eight questwns '
Each questwn carries 2 marks,

S11. .?Mentlon the types of errors.

' ;1712. - For'n deévices in a network what is the number of cable’ hnks reqmred fon a mesh and ring .

topology ?

Turn over



T 13

14.

15,
16,

17,

18

©o1e.

20.

: 21.'
29.

23
.24,
25.
26.
o,
28.
' 29,
30..
"8l

Deﬁne flow control

‘What i is meant by bit stufﬁng ? -

What is meant by router ? L

What is piggy backing 7

What is_xﬁeant by congéetion ? *m o, )

What is the purpose of Domain Name System ?

What is meant by quality of service ?

,. Find the class of each address

- (a) -00000001 00001011 00001011 1110111
(b) 14.23. 120 8.

Differentiate TCP and UDP.
Write a brief note on the benefits of optical fibre.

R

Part C
Answer any six questwns
Each question carries 4 marks. -

LWnteshortnotesonCRC ) " " § ' '. o o
| Differentiate between pure ALOHA and SLOTTED ALOHA,' h

Deﬁne checksum ’ w ' .

’ Mentlon the: advantage and" dlsadvantage of stop and- wa1t flow control.

Mentron any four internetworking _dev1ces 7.
EXP_léin HDLC. _ | |

Write the keys for understandtng the link state routing. ~
What is. the ﬁmctlon of SMTP.? - . '

What are the advantages and dlsadvantages of pubhc key encryptwn ?

6] x 2 =16)

(6 x 4 = 24)
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32.
33.

34.

35.
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Part D

--Answer any two questions.

Each question carries 15 marks.
Explé'in distance vector routing algorithm with neat diagram.

What are the advantages of having layered model of networking ? Explain 0SI model mentioning
the functions of different layers. ’ ' ) ’

Write short notes on the following :
‘ ’ta) Emaﬂ |
(b) HTTP.
Discus.s'fthé role of transport layer in-detail.

(2 x 15 = 80)



